
PART-III 

�IT6l11J"6nlW6\l / BOT ANY

( �uSl W LD!]IDJ LO �r6J$1 GD 6lJ � / Tamil & English Versions) 
Gpj!JLD : 3 LO� ] Time Allowed : 3 Hours ] [ GLDrr�� LD�uQu6lfOTffiITT : 150 [Maximum Marks : 150 
�uol�6tDIJ : (1) � � 6"0T � � @S1 601 rr i9; ffi (.§ LO a= rf1 lLI rr ffi u � 6lJ rr $1 � ro ro � rr GT toN W � � 601e=rf1urrrr��i$ QffirrITT61T6l.jLO. �68rl.JU�<olS1GD ®�!Du51@L.JtS16bT ��!I)$ffi� a; rr � u u rrrorf1 LLD �L60T t.q..LU rr ffi� Q � rf16lS1 $8' 6l.J LO.

(2) irut.b �ruro� ffi@ULJ �l.Du51�60T 1.DL@al.D GT@�QJ�fD®LO,� Lq-i$Gffi rrt.q..(b) 6lJ � !D ® LO u LU� u (1) �� G� 6lfOT(b) LO. u LffiJ ffiITT 6lJ � 1J 6lJ � !P ®Q u 6irr 61 ru u LU 6irr u (1) ��@..j LO.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness, in.form the, Hall Supervisor immediately. 

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.
LI@)� - � / SECTION - A

®!!SlLI� : (i) �6lD6lJT�� 61S160Trr8>8:i(_§i$@5LO @S'l�LLU6ffli9;a;6l.JL.D. 
Note: 

(ii) B=rrlwrrm <olS1�L�llJ� G� rrJhG�®�� GT@�ffi.(i) Answer all questions.
(ii) Choose and write the. correct answer.

1. �6irr @LLQ LDrr!!)!]5lLU�LDi$8:iLJ w LL (§GLrrGLDrr60TrrGiu �t.q..L,..rr ___ _M��i$$1JD�-( �) �rrrrGLDrr6irr ( �) �u51 rr GT� frQ u rr@ITT 
(@) ffi5a=rr <or�Q�UJ ( r-r-) �6l.J L...LuSl6lIT 

Pseudomonas putida is an engineered bacterium that can : (a) produce a hormone (b) produce a antibiotic(c) digest crude oil slick (d) digest vitamins

30x1=30 
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2. L5l 6b"TGU @6U 60TGU !DWI GiT 6rJ6t5 u rr 85 (.(2.rfhu rr LD@) La; w 615) GO G f.6 �6'15) LU 6J!D u ® �� � !D� :

( �) GruLGIJ"uaLrr6'15)LJ.ilGru 6'15)�851J"ITGruaa;rrL5la;oo

( �) 6T"Gru Q GlU rfl .il LU rr (ga; rr 6'15)Q)

(@) (gu.i}Q)Q)Gll) �rfl(§.ilLU6bT.iloo

'( r-r=) �85alJ"rrUIT85(.(2.rflLULD Lq-uS10°oau.ilLU6bTGru

Which one of the following bacteria causes cro_wngall disease ?
(a) Streptom.yces hygroscopicus
(b) Escherichiacoli
( c) Bacillus thuringiensis
(d) Agrobacterium tumefaciens

3. DNA- 6l516b"r @IJ"L6'15)L 8r@GIT LDrr�rfl6'15)LU 66lro85�LU6UIT :

( �) 6UITLB=6b"r LD!!)WJLD �rfl85 ( �) O.T. 6,Trurfl LD!!)IDJLD @)@61Slmrr 

C@) �rfla°ol51� (r-r-) 00Gu15l6m Qufr85 

Double helix DNA model was proposed by 
(a) Watson and Crick
(c) Griffith

(b) O.T. Avery et al.
( d) Stinberg

4. QP@ 615) LD LU rr a; �85Gml �a6nl!D ,ID LD � 615) L� LD �® e9) Q)85&1.WJ ® �85 (ga; rr 61 GUl@Ji>�
c$) 615) LU LJ �

(�) 38 ATP (�) 36 ATP (@) 35 ATP 
Complete oxidation of one molecule of glucose yields
(a) 38 ATP (b) 36 ATP (c) 35 ATP

5. Q [.5Q)GU1 ru Q GU u � cg J] rr 615) LU g?_®GU rr 85@) LO cg f.6 rr� u5l rfl 6r � ?

(r-r-) 2 ATP

(d) 2 ATP

(�) Qe:rraa;rrwaurrlJ"rr Gurra=a6lITLIT (�) 6'15)LJrft @)(g®GU1LUrr �6'15)1J"ae=

(@) e=rrµ;at5LDrraLDrr6lITrrGru .ilLrfl (r-r-) �ffilalJ"rr 6'15)6UIJ"Gru

Which pathogen causes the blast disease of rice?
(a) Cercospora persona ta

( c) Xan thomonas ci tri

(b) Pyricularia on}Zae

{ d) Tungro virus
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6. � IT6l.J i;r �� 6irr � � 6lff �� 2-WJ u LJ a;GTT) @)I LO Q u IT� ru IT a; a; IT 6mU u (b) LD � a:r :

( �) u1Ti;r6irr�a;LD1T ( qb) ®Grorri;r6irr�a;LDrr

(@) Ga;rr6D6m'6m8;LDIT ( r-F) 6iuffilmi;r6irr�a;LDIT

The tissue generally present in all organs of plant is :

(a) parenchyma

(c) collenchyma

(b) chlorenchyma

( d) sclerenchyma

7. a; IT IT$� 8r @Si GU a; IT 6m U U (b) ffil 615T !I) Q 6D 6irr GlU 6lJ Lq-6lJ � � GTT a; 6TT � GU 6D � � GTT � a; 6TT
CoT6nlu u (b) LD. 

( � )- QurflGLrrLD 

(@) QuruG6DIT�615T 

(�) UL�L� ��GTT8;6TT 

(r-F) a;rrrr8; 

Lense shaped openings or breaks in the cork tissue is known as: 

(a) Periderm

(c) Phellogen

(b) Lenticels

(d) Cork

8. Mi;rLD(§8=rflWIT6lff§J �6nf1LD6DIJIT8; @)WJ$8;LO ��L]I>�GTTGTT �IT6)..IIJL0 :

( �) CoT$ct16lITITU60J ( qb) 6Drr6nf1 w rr

(c@) ffil�IJ51T]I>�LDLD ( r-F) LITG151WIT

The head is reduced to single flower in

(a) Echinops (b) Launea

(c) Chrysanthemum (d) Dahlia

9. ��ITG15l�u6irr CoT6lffLJU(b)LD LD®JI>�UGUIT(!BGTT Guwuu(b)L.D �IT6)..11Jl.D :

( � ) � a; IT rol U IT @ 61ITTlq-8; IT ( qb ) 6J $) GU LD 1T1Tu516D IT60J 

Acalyphine is extracted from : 

(a) Acalypha indica

(c) . Cissus quadrangularis

( r-F) �LDGLDIT51T khlq-8;1T 

(b) Aegle marmelos

(d) Mimosa pudica
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10. · Q��mQ)1T6m16lIT LD!I)IDJLD 8=Gu1T6m16m" qb$lUJGmru Gu!!JUU@LD �ITQJIJLD :
( �) �a:;1T6\Slu1T @6lfurl!\-8:ilT ( �}.<oJ�6'> LDITrrl.L)).Q)ITGlU 
(@) Q51TQ)1T6mLD Gm�ffilJLD ( r-r-) GmLD.GLD,Ff51T kbl!\--8:ilT 
Solanin and Saponin are extracted from : 
(a) Acalypha indica (b) 

. (c) Solanum nigrum (d) 

Aegle· · marmelos 
Mimosa pudica 

11. �IT6l5T@) QJ)Gm6m Gm8=Q)LD ---- ru a:;rr�uu@$l!D§J·
( �) @®@S111>�.GmQ)1E �rrrur,rGrurr ( qb) �® @51��GmQ)11> �rrrur,rGrurr
(@) �@@S)11>��Q)� �ITQJIJ11>�00@ · ( r-r-) �@ @5111>�6mQ)11> �ITQJIJ11>�6m@
The tetrad condition of xylem is found in:
(a) dicot root (b) monocot root

. (c) dicot stem (d) rhonornt stem

12. @Gm�u� G8=rr��6m85 a:;Q)u� @S1$l�LD :
( �) 1 : 7 : 7 : 1 ( qb) 7 ; 1 : 1 : 7 (@) 1 : 1 : 1 : 1 
The coupling test cross ratio is 
(a) 1 : 7 : 7 : 1 (b) 7 : 1 : 1 : 7 (c) 1 : 1 : 1 : 1

13. @)Gr,rrrGL.D1TG8=1TLD GT6l5T!!J GuUJ�r,r �.a5l@a:;uu®1E�UJQJIT :

(r-r-) 9:3:3:1 

(d) 9:3·:3:1

( � ) i.5l ifh�-�oo ( qb) ru IT ru � L UJ rr ( � ) u IT ru i.5l UJ IT 6l5n11 ( r-r-) o °o i.5l ro uSI ffiJ 
. The term chromosome was introduc�d by : 

(a) Bridges (b) Waldeyer (c) Balbiani

14. t.5l 6l5TQJ@ QJ 6m QJ !I) IDJ ffi GT §1 C 4 � ITQJ r,rLD :
(�) Q�ru ( qb) Ga:; IT ffiJ � LD (@) 8:i@LD� 
Which one of the following is a C4 plant ?
(a) rice (b) ·wheat (c) sugarcane

15. LJ@)� �L@6m6!5nll �1Trur,r1l>�!D® <or@1E§Jffis;1T½®. :
( �) @S1_oos;LD ( qb) 8:,<ofl)®LLIT . 
(@) LD1TG6m1TLG1J1TU1T ( r-r-) QJIT6mLIT 
Example for partial parasite is 
(a) Viscum
( c) Monotropa

(b) Cuscuta
(d). Vanda

(d) Flemming

(d) potato
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The number of high energy terminal bonds. present in ATP is 
(a) one (b). two (c) three (d) four

17. �® e!;j)Q)ffi8in.IDJ NADH2 (Y)@6IDLDUJIT6nl �ffiM�G6nl!I)fJ)��615T Gurr� Qru6tf1uu@LD
ATP e!;J) Q)ffi8in.IDJ Bl61fl 6l5T 6f 6im° 6ml ffi6IDBl

( � ) �615TIDJ ( �) @o-Gim-@' (@) e!P 6irr WI ( r-r-) lDIT6nl@)
One molecule of NADH2 on oxidation yields:
(a) one ATP (b) two ATP (c) three ATP (d) four ATP

18. GlLL ... JfrrGa=rrL.61 @ru6l.lITIDJ ®!151LJLS1LLJU(b)ffilfl)�

(�) 2n-1 (�) 2n+1 (@) 2n-2 ( r-r-) 2n+2 
Tetrasomy is represented by : . 
(a) 2n-1 (b) 2n+1 (c) 2n-2 (d) 2n+2

19. Q�rr��6l5T �6im°LLJULL Qurr@��ffi GBlrrLurr@ @rui rrrru Ga=rrruQ)LJLJLL�. 

(�) 8in.6l5T ( �) o\L5)��1T 

The induced fit theory of enzyme action was proposed by 
(a) Kuhne (b) Fisher
(c) Buchner (d) Koshland

20. @6l5rlcj-GBlrro0oGUIJIT 6f6mlUJc°ol51ruQ)� �® : 

( �) �6IDLULITJ5� 61wGa=lcj- . ( �) l516l5T®J QB;rrt.q-
(@) U!I)IDJffiBlLDL51 �GTTGTT GJIDJ GBlrrt.q- ( r-r-) 'LJ�IT Ga=t.q-
Indigofera enneaphylla is a 
(a} prostrate 
( c) tendril climber

· (b) twiner 
(d) shrub

6243 

[ �®ULJBl / Turn over 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


__ ____i...624�-- 6 

21. · LD 6"6t1 � 6irr 2... L Q a; rr GIT GTT � c9, a; 6ln ru LL 1.0l 6irr Q a= p5l � � LD rr � � 6ln IJ a; GIT @ � Q$l ® � �
�UJrrrflc9,a;uu(b)�!!)�
( �) jl)rT6n)LrTc$ ( �) r-f-Gn)L. 

-c,� (@ ) 85 rrGTTrrm -( r-F) 611) 6ln U (I!) 6151 6'0T rr 
Enriched vitamin tablets are produced from the following organism for human 
consumption 
(a) Nostoc (b) Yeast

· ( c) Mushroom ( d) Spirulina

22. Q a=UJ fD 6ID85Cf>6ID !I) � rrru 1J ru 6ln85 u u rrLLq-6ln m � IDJ@S) UJ@J rr :

.. 23.

( �) @ffil�GUrr�� �rrru1J@S1UJGUrrrr ( �) 6n)GDL6m. �rrrulJ@S1UJGUrrrr 
(@) Q�rrLD6"6tl �rrrulJ@S)lJ_JQ)rTIT ( r-r-) @��UJ� �rrrulJ@S1UJGUrrrr 
Artificial system of classification of plants was proposed by a 
(a) British botanist (b) Swedish botanist
( c). German botanist ( d) Indian botanist

iGTTua;ru �rrrulJ��f.D® 6f(b)��c9,a;rrL(b) 
( �) LJ6ln85�6l5)Q) ( �)-(§rf1UJ 85rTJB� (@) LD c9, a; rr a=(ga= rr GIT LD 
Which of the following is a long day plant ? 
(a) tobacco (b) sunflower (c) maize

( r-r-) 

(d) 

(ga; rr � 6ln LD 

wheat 

24. �f.!)(gLJrr6ln�UJ ��Q) 2...6085 �rrrur@S1UJQ) GuUJrr (§L(b)a=a=LLLD (of�� �6mlr(b) Cf>�6D
; JD6IDLCf>6ln!!)c$(§ G)J��� ?
(�) 1930 (�) 1975 (@) 1978 (r-r-) 1976
The current system of International Code of Botanical Nomenclature was adopted in
the year:

, _(a) 1930 (b) 1975 (c) 1978 (d) 1976 1 

2S-. �LU Gruuu LDrTIDJ��c$@j 6J!!)U c@6ln6058r(l]j(§�Wc$(§LO, Bi@Glf �ffi1C§�W8JC§LD 
2-..�� LD Ga=rua;GIT : 
( �) LJ6D6'5la°oUrTITLD Ga=rua;GIT ( qb) �6'51c9,a;rr Ga:6D85GIT' 
(@) �6l5)�c$85@@S1 Ga=rua;GIT ( r-r-) 85rTULJ Ga=rua;GIT 
These cells are helpful for the rolling and unrolling of the leaf according to the weather 
change: 

· · 

(a) Bulliform cells (b) Silica cells
· (c) Subsidiary cells (d) Guard cells
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2 6. · Gru fr §1l 661E5 6ID ro �!Du�� Q a: tbt.J 6ID 6l.i 
( �} 6[)(J"G�_r:r GL fru516iu ( �) tq-6[)1J"8>Ga;rrLDs;GIT 
(@) �6[)6m"$8i@QS1 Q5rua;GIT · ( FF) tq-6[) IJ" a; Gs; rr L.Sl ITT rr6iu C..(1) s; GIT
The root hairs are produced from : · :, 
(a) rhizodermis
( c) accessory cells

(b) tric:_homes
(d) triclmblasts

27. (§6\51 6[)Q)ffiGIT GJI> fra;Gs;rrC..tq-GU �6[)LDllJrrLD@, 6!I)IDJ 6rrlL!rurra; �6[)LDjfi�GITGIT·
LOQ)IT8i6[)G1T�6[)LllJ @)@LDJ LD : n · -
( �) LDrr@G6lJ.il ( �) Q5rrQ)_rrG6m.il .
(@) �y/oGurrfrl.SIGlU.il (FF) u51 !JJG8i.il
The carpels are obliquely placed in the members of :
(a) Malvaceae · · (b) Solanaceae :
(c) · Eupho:rbiaceae (d) . · Musaceae

28. �® LJGDG\51 @fl>� LDL.@LO ��6'51GurrQ) ua;L.LIT6m 6l.J6lITT6m"��L6irr· 8ilT6nnl"LJU(1)LD
fl>IT6Ll IJ"LD :
( �) @a;Goorrrrrr
The plant in which one of th�:sepal_s is brightly coloured: 
(a) Ixora (b) Hibiscu� · · (c) :ty!usa . _ (d) .· Mussaenda

,' ' ' .  

2 9. � QS1 lLI rr L.Sl G IJ" .i16\51 lLI 6irrGrol 6iu )s rf Gl.J IJ" �� 6irr @6[) Q) $GIT : 
( �) f;56ITT1�f;5� 
( � ) (Y) 6lITIDJ .i) !D !]516[) Q) 8j 6[) � � � CUJ 81n. Llq-6[) Q) 

(@) 8ilTLDU!I),!D� 
( FF) . �ffi.16[)85 @Jlq-Gl.J L.OLQ)8;�Q)s�� 
In Hevea brasiliensis, the leave� are:,:
(a) simple
(b) . trifoliat�ly compound··
(c) sessile
( d) palmately lobed

30. a;6ITTla;GIT UQgLJLJ�Q) Uffil8irf!!)IDJLD �rrfrGLDIT6lIT ��? ;
(�) �a;.il6irr (�) ���6\516irr
(@) M lLI rrtq-6irr (FF) 6[)6LGLrr6[)s;6ITT)6irr
Which of the following hormone is involved in ripening of fruits ?
(a) Auxin (b) . Ethylene
(c) Zeatin :(d) Cyto.kinin
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LI®j - �/SECTION-B, 

Note: Answer any fifteen questions. 

31. 'LrrLGumrrho' 6l.16mlJ"lUIDJ. 6r(b)��ffiffifTL(b) �Q!jffi.

Define Jautonym. Give an example.

15x3=45 

3 2. Q u J!J � LO LO ti) IDJ LO �rrrf) ffi ffi IT 6l.l 6m ffi u u rr L t.q-W ro ro � LD G 6nl rr <om Q u _IT LO � rr 61..1 IJ" 

(§ Cb) LD u ffi.18:i ro UJ rr 6m 6l.l ? 

Write the families of gymnospermae as in Bentham and Hooker's classification of plants. 

33. ffi6\:>LJ@S1Q!JLB=LO 6r6irr!!)rr6\:> 6r6irr6nl?

What is Kalpavriksha?

34. �o\Gurr1TLS1GUJ51 (§(b)LOU��@rr U6\:>G6l.lIDJ L0(§5rf1ffi6ID61T 6r(b)��ffiffifTL(b)ffi(§L6irr

6rQg�ffi.

Write different types of inflorescence seen in Euphorbiaceae. Give examples for each�

3 s. ®ID! ffi Gffi ti) !D LO 6r 6irr!!) rr6\:> 6r 6irr 6nl? 

What is crossing over ? 

3 6. 6l.l � 5Q 56\:>ffi ro 6f@rr!!) ff 6\) 6f@rr6nl? 

What c1re called passage cells ? 

3 7. DNA- @S16irr · Q a=UJ 6\:> u rr(b) ffi6m 61T (§ !]5) u LS1 Cb) ffi. 

State the functions of DNA. 

3 8. ffi L�� RN A- @S16irr $) ro rr6l.l IT @6m ro � 6m LO u LS16\:> �ro ro JD rr 6irr (§ ffi IJ"ffi.l ffi ro UJ rr 6m 6l.l ? 

What are the four arms found in the clover leaf structure of tRNA? 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


9 

·. 39. �llJ6') �6bl Gu!bro @®61Sl���Q)� �rfQJIJT6.18;6ffl6bl GUlUIT8;�GTT GTQ:b)�c9;.
Write the name of transgenic dicotyledonous pl�nts, 

40. .�u.5) rf1 llJ 51J"�LDL.1Urf838;LD · GT6bTJ.DITQ.} GT6m6lIT?
What is meant by bio-remediation ?

41. (Y)@ GJnrr� 6f6m"rr,>rrw GT6m6lIT?
What is holoenzyme ?

42. irr •�6fT1 LJ !S1ro��6D GT6ITTJ.DrfQ) 6f6bl6lIT?
What is photolysis ofwatet? ··.

43. ffirr!!)!}51rurr 8rrurra=��6br ffirurra=. FFQ.t @�61Slrurr��- 6J"6m"? ..
The respiratory quotient for anaerobic respiration is infinity. Give reasons.

44. nM=LDrr60ML rurrffi.l @S'l�GTTQ.t 6f6bTJ.DrfQ) 6f6m6m"?
What is Richmond Lang effect?

45. �GTT1a:�6l.Jrra=��!D@jl.Dj @@L8r6l.lff8=��!D@jLb �GTTGTT ,,Gruwutr@c9;m llJrr�ru?
Write the differences between photorespitation and dark ·respiration.

46. 8rk96D �GTT1 urrGiuurf1�1)"6m"LD GTJ]JP., @5��6lf)Gl)u.5)6') to�LGuwc$)!.D�?
State the conditions und.efwhich cyclic photophosphorylation occurs.

47. �8'LDrrll.l@ ru�m�6irr (Y)6trTIDJ ��Q.)8;ffl lLirr�ru?
Whal: are the three stages of sigmoid curve .7

48. @jGTTlfr U�6lIT��6br LJlLJ6blc9;�GTT GTQi)§J85.
Write the advantages of vernaiizati�n.

49. �u.5)rf1 �IJ"LD 6f6ITTLJ�� ru�rJlLI�rr,> Ga=ll.l:85.
Define biofertilizer.

5 0. � � LOI 6lSl 6bT 6f 6brrr,> rrro Gt 6bT 6lrr? 
What is humulin ? 
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LI@)� - � / SECTION - C 

®!Oh,JL-1 
: (i) (of6[)6)_JallJ@ll.D GJ@ @S160Trra;a;�a;® @S)G[)L �@$, �@J!I)IDJffi @S160Trr 6f6"6ITT" 

Note: 

51-!I)® $LLrTLLJL.Drra; @S)G[)L �<orrla;a; a@JGinr®LD. 7x5=35 

(i) Answer any seven questions including question no. 51 which is compulsory.

(ii) Draw diagrams wherever necessary.

Bring out the significance of herbarium. 

Write the differences between Musa and Ravenala. 

Write short notes on Lenticels. 

54. @®@51��6[)61)� �rr@Jr,r @6[)Q)u5l6b,- ®IDJ$@) Q@JL®� a�rr!I)!!)�G[)�LJ ULL.D @JGmlJJ!)�
urra;r€u$�6ITa; ®!)5l, �-- --� �---

Draw and label the parts of a T.S. of.Dicot leaf.

Bring out the characters of meristematic cells. 
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Draw and label the structure of lamp brush chromosome. 

?f.' 

Write the differences between DNA and RNA. 

How are foreign genes introduced into the plants ? 

Define SCP. Write the uses of SCP. 

Explain Ganong' s respiroscope experiments. 

61. 8r6)Jrr5 r-FQ.j GT6MU6ID� �GfT8j@58', 8'rrrr{:gLJrr6ID�L.(gl)"L., B>rflLD �L.61@L.D LDd}IDJtb
QB> rr Q:g U � � L.61 GU�� 6m 8r6tJ rr a= r-F Q.j LD� u � 6ID GITT · 6lS16tJ rfl ..

Define respiratory quotient and explain respirat01:y quotient for carbohydrate, organic
acid and fatty acid.

Write the aims of plant breeding. ( any five) 
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®n5h.JL1 : (i) 

(ii) 
Note : (i) 

(ii) 

LI®j - r-r- / SECTION - D 

GT615)QJ aUJ ®J LO }I> rrGm® 61Sl 6lff rr B;B;�B>® 61Sl 615) L �®B>. 
a�615)QJUJrr6lIT @Lffila5Glflru ULLO Q..1615)1)8;. 
Answer any four questions. 
Draw diagrams wherever necessary. 

4x10=40 

63. (�) �$]Gt) 2.._6t)B; �ffQJl)��Q) QuUJrr (§L{b'B=6LL��6lIT QJ)Bi$1UJ �LD6ffiJ8,615)6ff
®wlu�@B>. ( toJG�®JLD mp;�)

( qb) GB=rrrurra6lffs1 (§@LOu �rrrulJ��6irr Qurr09rorr�rrl) QPB>$1UJ��ru�615)� GT@�a;.
(a) Write any five salient features of ICBN.
(b) Give a brief account on economic importance of Solanaceae.

64. @®���615)6t)� �ffQ..11)��001.q-fD@jLO, �@���615)6t)� �ffQ..11)��001.q-fD@jLO @61nLGUJ
2-roro �roro 615) LD u � UJ ru Gru IDJ u rr® B>61n61T GT @�a;.
Write anatomical differences between dicot stem and monocot stem.

65. 615) � � ooa;oo G IJ"ff 6 rr -615)6Q 6lIT 6irr Moo � rrru 1J �� 615)6lff B>61nrua= Q 6 rrfD a;ro (Y) GD LO @S1 iu rfL
Describe Hibiscus rosa-sinensis in botanical terµis.

66. @jGl)rrGLDrrGB=rrr.o �615)LDLJ�ru �!I)LM LI[D!}5l LIL��LGm GBrurfl.
Explain structural chromosomal aberrations with diagram.

67. DNA LDIDJ G61T8i615)8, !gJLU�UJQ) Uf1)!}5l �® 85L{b'61nl) GT(!!}�85.
· Write an essay on DNA recombinant technology.

68. qb(§MGUJ rrooQ LI ITL085Glfl 6irr LI ruGru !1)1 �LL QJ)61n !1)85615)6ff �QJ rfl.
Descrioe different modes of Nutrition in angiosperms.

· 6 9. s;)615)6ff8, rrrolM oo 6F6lIT!l) rrru GT6lIT6tIT? ��6m u lq-85615)61T �rurfl. (� �L..Gl.J 615)QITT �Q)6t)�
� ro B>B> LO) 
What is Glycolysis ? Write an account on Glycolysis. (explanation or flow-chart) 

70. Q}I>ru L.Dfl)g)JLO G�e;$16irr Qurr09rorr�rrl) QJ)Bi$1UJ��QJ�615)� GTQ!)�B>.
Write the economic importance of rice and teak.

-o O o-
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